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; 100kN/m%#B% % - ~ -|3mEEZD -~ - -| 100kN/M%#BZ % - ~ -[3mEBZ D ~ -
ZnLs 1.00 1 000 ~ 485 60.49 | TS | 000 ~ 485 1.94 9.80 Zzh st 1.00 | 5.00 ~ b5.57 60.49 | ThLS | 6.00 ~ 5.67 | 1.94 9.80
2 100kN/m%#E% % ~ -|3mEEZD ~ -| 100kN/MiZ#8Z % ~ -[3mEBZ B ~
znLs 1.00 |1 0.00 ~ 420 52.56 | Thst | ooo ~ 420|235 11.59 Zzh st 1.00 | 5.00 ~ 7.61 52.66 | =N | 5,00 ~ 7.61|255 11.59
3 100kN/m##BZ2%| 1.00 | 000 ~ 029 104.25 |3m&E Bz ~ -| 100kN/m%#BZ2 5| 1.00 | 11.20 ~ 1200 104.25 |3mE¥ZD ~
znLs 1.00 1029 ~ 807 100.00 | =nLs | 000 ~ 807|238 12.03 Zzh st 1.00 | 5.00 ~ 11.20 100.00 | =nS | .00 ~ 1200 2.38 12.03
4 100kN/m##B2% | 1.00 | 000 ~ 029 104.25 |3m&E Bz ~ -| 100kN/m%#B2 5| 1.00 | 11.20 ~ 1200 104.25 |3mE#ZD ~
ZhnLs 1.00 1029 ~ 807 100.00 | =nLs | 000 ~ 807|238 12.03 Zzh st 1.00 | 5.00 ~ 11.20 100.00 | =nS | .00 ~ 1200 2.38 12.03
5 100kN/m%#E% % ~ -|3mEEZD ~ -| 100kN/Mi%Z#8Z % ~ -[3mEBZ B ~
ZnLs 1.00 1000 ~ 771 98.89 | =hst | ooo ~ 771|202 10.23 Zzh st 1.00 | 5.00 ~ 12.00 98.89 | =S | 5,00 ~ 1200 2.02 10.23
¢ 100kN/m#Z#8%5% | 1.00 | 000 ~ 154 12342 |3m%EHBZS ~ -| 100kN/m%#BZ 5| 1.00 | 1053 ~ 1569 12542 |3mE#ZD ~
s 1.00 | 1.564 ~ 9.32 100.00 | =N | 000 ~ 932|219 11.08 Zzh st 1.00 | 5.00 ~ 1053 100.00 | =nRS | 5.00 ~ 1569|219 11.08
; 100kN/m#Z#8%5% | 1.00 | 000 ~ 1.82| 12795 |3m%EBZ% ~ -| 100kN/m%#BZ2 5| 1.00 | 10564 ~ 1719 12795 |3mE#ZD ~
znLs 1.00 | 1.82 ~ 9.60 100.00 | =0 | 000 ~ 960|217 10.95 Zzh st 1.00 | 5.00 ~ 10.54 100.00 | =nLS | 6.00 ~ 1719|217 10.95
g 100kN/m%#E% % ~ -|3mEEZD ~ -| 100kN/MiZ#BZ % ~ -[3mEEBZ B ~
Zh s ~ Zh s ~ Zh st ~ Zh s ~
9 100kN/m%#E% % ~ -|3mEEZD ~ -| 100kN/Mi%Z#BZ % ~ -[3mEBZ B ~
ZnLs 1.00 1 000 ~ 5617 64.41 | =N | 000 ~ 000|167 842 Zzh st 1.00 | 5.00 ~ 56.60 64.41 | =hS | 6.00 ~ 5.60 | 1.67 842
10 100kN/m##B2%| 1.00 | 000 ~ 017 10252 |3Im&EBZ5 ~ -| 100kN/m%#BZ 5| 1.00 | 10564 ~ 11.00| 102562 |3mEEZD ~
ZnLs 1.00 1017 ~ 796 100.00 | =nLs | 000 ~ 796|216 10.93 Zzh st 1.00 | 5.00 ~ 10.54 100.00 | =nRS | .00 ~ 1100|216 10.93
17 100kN/m%#E% % ~ -|3mEEZD ~ -| 100kN/MiZ#8Z % ~ -[3mEEBZ B ~
znLs 1.00 |1 0.00 ~ 733 93.48 | =hdst | ooo ~ 733|182 918 Zzh st 1.00 | 5.00 ~ 9.50 93.48 | =N | 5,00 ~ 9.60 | 1.82 918
19 100kN/m%#E% % ~ -|3mEEZD ~ -| 100kN/MiZ#BZ % ~ -[3mEEBZ B ~
zns 1.00 | 0.00 ~ 6.14 77.09 | TN | 000 ~ 614 1.83 9.26 Zzh st 1.00 | 5.00 ~ 7.20 77.09 | EnLS | 500 ~ 720 1.83 9.26
13 100kN/m#%#BZ % ~ -|13mZEEZD ~ -| 100kN/m%# %% ~ -|3mZEEZ S ~
ZhnLs 1.00 | 0.00 ~ 6.63 83.65 | NS | 000 ~ 6.63| 1.80 9.09 Lot 1.00 | 5.00 ~ 8.00 83.65 | NS | 5,00 ~ 800 )| 1.80 9.09
14 100kN/m#%#BZ % ~ -|13mZEE RS ~ -| 100kN/m%# %% ~ -|3mZEEZ S ~
ZhnLs 1.00 1 000 ~ 474 59.06 | NS | 000 ~ 4.74|1.79 9.06 ZFhn Lot 1.00 | 5.00 ~ 56.00 59.06 | NS | 5,00 ~ 5.00)1.79 9.06
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#BZ % ~ ImEFEZD ~
Zh s ~ Zh s ~ ZhLlst ~ Zh s ~
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